M.aths

What can you do in .a minute?
chmwﬁm%mwuwmeWWMA
mirute?

How many star jumps can you do in a minute?
How .do we work out how many seconds in 2
mirutes?

What calculation do iyou have to do?

So if | minute = 60 seconds, 2 minutes w.ould be 2
x 60 = 120 seconds.

REMEMBER: You .can work out 2 x 6 = |2 first and
then make the answer 10 times higger as iyou want

to know the answer to 2 x 60.

Talk and Share

3 minutes = 3 X 60 seconds = 180 seconds
4 minutes =
B minutes =

10 minutes =

E4E 2 £ minutes =

What if you wanted to corwert seconds to minutes?
What calculation w.ould you need to .do?

E.g. 120 seconds = 2 minutes
Work out 12 +6 = 2
120 + 60 = 2
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Complete the .questions and remember to show iour
w.orking oudt.

|) corwert to seconds
- 7 minutes

- 9 minuwtes

- |2 minutes

- 20 mirutes

2) corwert to minutes
- 360 seconds
- 480 seconds
- 660 seconds

Answers

|) corwert to seconds

- 7 minudes = 420 seconds

- 9 minutes = 540 seconds

- 12 minutes = 720 seconds
- 20 mirwtes = 1200 seconds

2) corwert to minutes

- 360 seconds = 6 minutes
- 480 seconds = 8 minutes
- 660 seconds = Il minutes

What can you do in .an howr?
How is this different to what you can do in a
mirute?

How .do we work out how many minutes in 2
howrs?

What calculation do you need to do?

What mental strategy do we use?




Remember - there .are 60 minutes in | howr. Use
Mour knowledge of the 6 x tables .and then multiply
the answer by 10 so0 its ten times higger.

% howr = 30 minutes

| howr = 60 minutes

| % houwrs = 90 minutes
2 howrs = 120 minutes
2 % =150 minutes

|10 howrs = ?

|12 howrs = ?

20 howrs = ?

24 houwrs = 7?

10 howrs x 60 minutes = 600 .mirutes
12 hours x 60 minutes = 720 minutes - you could
work out 12 x 6 first and then multiply the .answer

by 10.
20 howrs x 60 minutes = 2 x 60 = 120 x 10 =
1200 .minutes

24 howrs x 60 mirnutes = 24 x 6 (ngng;d
method) = 14h x 10 = 1440 minutes.

You can use a rumber line to help you too: How
mn,g}ww/s,andnum,t@s.m 125 mirnutes?

125 minutes = _ 2 howrs .and _ 5 minutes
0 60 _120_ 125

Calculate the corwersions using your times tables to
help you and .o number line if you need to.

Option |

Option. 2




Corwert to mirudes
-5 hows =
- 6 houwrs
- 10 howrs

mins

Corwert to howrs + mins

Corwert to minutes
- 5 howrs
- 6% howrs
- 12 howrs

Corwert to houwrs + mins

- 120 minutes - .- - 150 minutes
- 180 minutes - 220 minutes
- 200 mirnudes ;... - 630 minutes
= and.  .mins
ANSWERS:
Corwert to .minutes Conwvert to minutes
-5 hows 300 mins -5 houwrs
- 6 howrs 360 mins - 6% houwrs 390 mins
- 10 howrs 600 mins - 12 howrs 720 mins

Corwert to howrs + mins

- 120 minutes 5 joue
- 180 minuwtes 5 ;..
- 200 minutes 5 ;..

20 minutes

Corwert to howrs + mins

- 150 minutes 2 hows
- 220 minutes 5, -
- 630 minutes , ,

| howr = 60 minutes

| minute = 60 seconds
2 howrs = 120 minutes
3 minutes = 180 seconds

Think .ahout how syou would solve this w.ord

problem:

Rebecca goes walking for 2 hours 37 minutes. How many minutes

has she beenwalking?




So you would work out how many minutes there
are in 2 hows = 120 minutes .and then .add the 37
minutes on.

120 + 37 = |57 minutes.

Rebecca has heen walking for 157 minutes.

A chinit
Complete .at least three questions. Make sure iyou do
at least one .of each colour.

How many howurs have passed hbetween

these two times? How mary mirutes?
It was 12.30 .and is now 3.30. That means 3
houwrs have passed. 3 howrs x 60 minutes = (80
minutes.

If it is 4.15 now, what will the time be in 3 hows?

What .ahout in 3 % howrs? You con wse o ruumher

What times is it in 3 /2 howurs?
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Develop |earning

It is 7.30.am. It takes | howr 45 minutes to walk
to the shops.

What time will you arrive?

+30 45

[ e

7.30am 8_’,50qm c’ﬂm Q.15am

T
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Solve the questions in iyour hook. Make sure you
drow a number line to help solve them.

Look at these two questions - think about how they
wzﬂwm/d«#erzmt.
It is 7.30.aum. Lt takes | howr 45 minutes to

walk to the shops. What time will you .orrive?
R.u.b.g aurrived .at iheiihr.au& at 11.50. Sheie;,t,the
library «at 14.05. How long did she spend there?

1)
It is 7.30.am. It takes | howr 45 minutes to

walk to the a}w,pfsﬂ What time will ApOL ourrive?

730 8.3 960 9c

You ourive at 9.15.am.

2)
Ruby .arrived at the library at 11.50. She left the

Lbibrary at 14.05. How long did she spend there?

= | houC 1SMing
14.05

.50 jz 50 }_50




Ruby spent 2 howrs .and 15 minutes .at the library.

A ctin

Answer the .questions .and .make sure Yoi use A
number line to help solve them.
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